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M 56 d = mL an 6 kL = m’
@ 2 kL = cm” i 46 kL = m’
® 88 L = kL a9 3 m° = kL
@ 2 m = m’ e 1 dL = L
& 32 om® = L eh 51 L = dL
© 1 ml = cm” @ 20 kL = dL
m 2 kL= mL @ 5 m = L
® 35 mL = dL on 68 m® = om
@ 2 d = m’ 9 2 d. = om
o 62 L = m’ 0 7 om® = mlL
an 22 m° = kL en 6 kL = L
2 16 m® = L e 1 m° = mL
» 2 m° = dL e» 92 d. = kL
a9 9 L = om @ 1 L = mL
s 2 mL = kL @y 5 em® = dL

kL @ 3 om® = m

(16 66 ocm°
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M 56 d = 5600 mL an 6 kLo = 6 m
@ 2 kL = 2000000 cm’ (& 46 kL = 46 m”
® 88 L = 0.088 kL a» 3 m’ = 3 kL
@ 2 mL = 0000002 m° e 1 d = 01 L
& 32 om® = 0032 L ey Bl L = 510 dL
© 1 mL = I em’ @ 20 kL = 200000 dL
m 2 kL = 2000000 mL @y 5 mlL = 0005 L
® 35 mL = 035 dl e 68 m? = 68000000 cm’
@ 2 d = 0.0002 m" 9 2 d. = 200 cm’
o 62 L = 0062 m’ ) 7 om® = 7 mL
an 22 m° = 22 kL en 6 kL = 6000 L
2 16 m° = 16000 L @ 1 m°® = 1000000 mL
» 2 m° = 20000 dL e» 92 d. = 0.0092 kL
a9 L = 9000 cm " @ 1 L = 1000 mL
4 2 mL = 0000002 kL @y 5 em® = 0.05 dL
16 66 cm® = 0000066 kL @ 3 om® = 0000003 m’



